arear/ OR
Sfig fasTM & |1 gl &1 auie |

Explain the seven elements of Jivan Vigyan.

UG IR T ATD oT? T P

Why the Anuvrat movement was necessary? Explain it.
Y4t/ OR

AIAE Jeal P qu B

Explain Sixteen Values in detail.

IR SR TPRER ¥ W THN & A #R 9@ 81 T
F|

Explain - "Non-violence and vegetarianism can create a healthy
society.

31e1d1/ OR
U= FEAE Bl T P
Explain Five Conomitance {Samavaya).

*ee
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Note: Attempt any five questions. Each question carries equal marks.

T. 1. 3P P T I IR R 3 ford|

Explain the Anekant in detail.

arear/ OR
S S P AR AT & Ae-THE DI TR 4 o)

Spell out the different types of Soul according to Jain Philosophy.

T. 2. OF 39 & IMYR W ‘T & TPR B gumad |

Define the type of 'Sat' on the basis of Jain Philosophy.
Y4t/ OR

S 299 & MR W A9 T@) BT quE R

Clarify the Nine tattva mentioned in Jain Philosophy.

T. 3. 3THeT 59 Ed §° $HN o9 [ P Ta 87

What is Anupreksha? How value development is possible through
Anupreksha?

(i) $.93./PT.0.



AERiEa e Friesd o RaRyds a9=Is|
Explain Entrepreneurial Developiment Programmes {(EDP) in detail.
At $F qfT w1 27 anffe gig § At & fireT s

What do you mean by role of entrepreneur? Explain role of
entreprenuer related Economic Growth,

gar/ OR
Safiar foem sdga Hit awraaie 1 auE a1

Explain the sucess of E.D.P.?

AEH & AMING ITRaIIcal BT ot |
Describe social responisibilities of entreprenuer.
arear/ OR
feoquft FR1- / short note on-
(1) Frafg dag / Export Promotion
(2) 3T Afa=TO / Import Substitution
1224
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Note : Attempt all questions. Each question carries equal marks.

. 1. 9Edl W 39 g gHea £ Al i fAdwanet $1 guie a9

What is Entrepreneur? Describe it's features.

JUar/ OR
ST & PN BT THIRT H=A alel gl o1 quie IR
Explain the factor's affecting development of Entrepreneurship.

. 2. AR JAmER A 319 1 91T &7 AT B U9Ifad e
gIel 3T T FT&1 IIERT T Jui- |

What do you mean by Business Environment? Describe factors
affecting internal and external environment of business.

31@T/ OR
faeE T &7 R & ufer a9ened)

What is planning? Explain planning procedure.

7. 3. ST YgER $I FAdvan faER ¥ q9eEd

Explain features of Enterpreneur behavior in detail.

32T/ OR

(i) $.93./PT.0.



9. 5.

Sales Rs. 20 per unit
Variable cost Rs. 14 per unit
Fixed cost Rs. 7,92,000 per year

31941/ OR
T farewe formg fageiom @1 afef Famd §U ST Seed a FHY ari|
Describe the meaning of break-even point analysis and explain
their objectives and limitations.
goIc, F9IC g goic I 1 37 AT 5V FoiC a0 & I8 T

AT AT/ What do you mean by Budget & Budgeting, Budget
control. Explain their objectives and advantage.

31941/ OR
ﬁﬂﬁ%ﬁﬂﬂﬁﬁﬂ?ﬂaﬁ?ﬁﬁﬂl/ﬁnd out following material variances.
Tt Fa ferRuT/Material cost variances

it geg fdaxu/Material price variances

qrft Sw faRuT/Material usage variances

A} 8107 feR/Material mix variances
AT U feRUT/Material yield variances
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Note : Attempt any five questions. Each question carries equal marks.

9 1.

N T faRor <R Hirn / Prepare fund flow statement.
oA frfies &1 RiesT 31 A1 2009 T 2010 3T 74 YR 2-

The following are the balance sheet of Shyam Ltd. as on 31* March
2009 and 2010.
Balance Sheet
as on 31st March 2009 and 2010

Liakilities

TR

]

ASTats

009

LR

10000

o000

F.000

Lo.oon

15.000

lz.000

U ]

5000

Lo, oo

L0000

0,000

10000

o000

2s.00n

U ]

Feierss

0000

L0000

0000

40,000

10000

10000

U ]

5000

an.o0n

To.000n

en.nnn

Lo.oon

0,000

110,000

1,60,000

110,000

1,60,000

(1) af & SRE FfT W) 12,000/ - AT FHR W 6,000/ -
T F g ST 7| / During the year deperciation of Rs.

M aterial Standard Actual
Rate Qty Rate Amount
Qty Kg. Amount
Rs. [Units) R s. Rs.
120 s 600 112 s 580
ga 10 800 &8 10Q 880
200 1400 200 1440
Less 30% 30 SO0 [25% )
Cutput 140 150
(iv)

12,000 on machainary and Rs. 6,000 on furniture is charged.

(2) o§ & SRE 9,000 TR TG B Ff (THHT T 4,000

%.) B 10,000 F. § ST /During the year machinery costing

of Rs. 9,000 (accomulated deperciation on this machine Rs.
4,000) sold for Rs. 10,000.

(i) $.93./PT.0.



(3) o & M 7,000 %. UfIRET Jga HT FaX 4,000 ©. § &1 /During I8 A U b b qe e uRecdHefier amr o

tEt;; \;ear, furniture t?aving wr;t_gn down value of Rs. 7,000 sold for Rs. 4,000. ¢ aRadT 7 2T gon Rl @ 21 srEaffe
(4) IR SO BT 10 Fi2Rr ST o aner {32 fafeE & TH w0 ¥ 5 ™ §, af 2004 & fow
During the year debenture were redeemed at 10% premium. Srffeg 37 af B
31941/ OR .
. . . . . . . 31) JNASH AT AT/ Profit volume ratio
e b 1 31ef AT §U HEeh o] a forig oidinT § 3R q9eTsd | EET)) T 2T Fixed expenses
Describe the meaning of management accounting. Explain difference between P
management accounting & financial accounting. (H) v fawoe fag; T/ Break even sales
(g) Tee&m M1/ Margin of safty

9. 2. Balance Sheet
Assuming that there is no change in selling price
Liabllity Rs. Assets Rs. . .
_ : and variable costs and meet the fixed expenses are
Share capital 1,00,000 Wood will 60,000 A A A A
— 75000 P P P TTo 000 incurred uniformly in two half periods & calculate
Profit & loss Ajc 30,000 Stock 30,000 the following for the year 2004.
Secured loans 80,000 Debtors 30,000 M/OR
Craeditors 50,000 Advances 106,000 E ; f
Provision for taxation 23,000 Cash 30,000 gﬂ%ﬁ?ﬁwgw ga%“ggﬁ ﬁ
2,00,000 2,00,000 %Wﬁmﬂﬁﬁml/wmt do you mean by
Calculate following ratio- trend analysis and explain the teachinque of trend analysis
(81) =Ie] 3TIUKT/ Current Ratio (9) TR 31URI/ Liquid Ratio with examples.
() waficg 3FUR/ Propritary Ratio () 0T W1 341G/ Debt-equity Ratio Y. 4. FEfRad G991 & IMER R 5T Hifoo-
(@) <M &M 3FJURT/ Solvency Ratio From the following data calculate-
1erar/ OR (1) fht 31wt A goria gu ww-fees i) /Break
¥ g T ST AT &7 3 g o SIebiR STl even point expressed in amount of sales in rupees.
Why cash flow is prepared? Explain different types of cash flow. (2) 60,000 & W o AfokT T &g o= T At
9. 3. Ram Ltd. furnishes the following data related to the year 2004 T & WEATl/ Numbers of units that must be
<al F;rsﬂ:coﬁoggnth l(‘sa;; Eci}gz}onths sold to earn a profit of Rs. 60,000 per year.
ales 40, WU, T
3) o W= 10 Ui a9 F9M &g faT sl
Total Sales 4,80,000 5,16,000 (3) gﬂ

foighT & SR I/How many units must be sold to
earn a net income of 10% on sales.

(ii) (iii) $.9.3./PT.0.



9. 5.

Th HUHT & 3P Jd H 3P Z W 31 96, 2013 5 F=fearRad

=T {1 - /The contract ledger of a company indicates the
under mentioned expenditure on contract Z to 31st March, 2013.

Rs. Rs.
Materials 1,20,000 Wages 1,64,000
Plant 20,000 Establishment 6,000

T8 T 3THET, 2012 H TRFT T3 T 36 1 g 6,00,000 . 8l TRl
T e WY 39 [/ 96 2,40,000 &. off, ST v SR & 80
TR 8; 10 e IR Rf O 8F TR 01 9N 90f 8F & 6 HI§ 9eaT &
SR got fag ST Rl dt &I 10,000 &, 8l T R 500,
BRI & I U ST QTN IS0 POt GRT -1 kT 3 fabeel & of
ST Sto SR g Tl i oft foraenise| @8 W o o o A S
INTUT 8l / The contract began in April, 2012, contract price being
Rs. 6,00,000. Cash received on account to date Rs. 2,40,000 is
80% of the work certified and remainder is to be paid as to 10% on
completion and the balance six months after completion. Work
completed but not certified amounted to Rs. 10,000. Prepare a
contract account, showing the profit to date after depreciating
plant by Rs. 500. How much profit would the company be justified
in crediting to the Profit & Loss Account? Show also how the work-
in progress would appearin the Balance Sheet? It may be assumed
that materials at the end are negligible.
Er/ OR

AT o qoT i ofaid & URUMET § 3R & RN B
e HINTI TF FredHe TIEE R0 g7 IR HIQI/ State
the reasons for disagreement between the costing and financial

results. Prepare an imaginary reconcilliation statement.
224
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Note : Attempt any five questions. Each question carries equal marks.
. 1. T el § A del B TR 6 Al Teid TuTe 1 TaR 3 W Hi
S 8:-/In a factory components A and B are used weekly as

follows:-

TR SUNH/ General usage 150 Units
e SUMT / Maximum usage 225 Units
=ATH SIHIT / Minimum usage 75 Units

(q: 3TN J1T) Re-order Quantity
A - 1200 Units B - 1800 Units

(G77: 3R 37afr) Re-order Period
A -4to 6 weeks B - 2 to 4 weeks
Calculate for each component

(i) T: 3T TR/Re-order Level
(i) 31ferpds Teid WR/Maximum Stock Level
(i) =TT b FIR/Minimum Stock Level
(iv) 3Ta ¥Tid TR/ Average Stock Level
Er/ OR
T ey dTT Aied UGy & fANdTe BT au #911/ Discuss

the characteristics of an ideal system of cost accounting.

(i) $.93./PT.0.



. 2.

9. 3.

2 R, 1 910% 3R 1 TP 44,000 T H T R F3MRIR R 400 T
ST 1 T T T Tk GIRT TR 9T W 300 ATRIRUT E10C € AR Sk
S I B IS BT 40 T T Gva, HiRes Bl 20 T Uk ave
IR SF Flow 10 T Ui Tue &1 T R WHTH 3 T TN TS =fat
SRT T T STy A St AcTRUT bt 1 TTgd) o ST H fabm Sk 2
TR (R 3 7 W SoTigdl O TR o RIRUT &R TR Hord &l a1 Tk

&2/ Two fitters, one labourer and one boy, undertake to work 400 articles
on a piece work basis for Rs. 44,000. Time spent by each of them is 300
ordinary working hours, and the rates of pay are for the two fitters Rs. 40
each per hour, for the labourer Rs. 20 per hour and for the boy Rs. 10 per
hour.

Ascertain the amount of piece work premium and show the amount
that each person will receive when it is divided proportionately to the
wages paid, and show in each case the percentage the premium bears
to the wages payment at ordinary rates.

319191/ OR

SURST & G0 | 31U FT T3 £7 IR & raenor g

T4 Y 3R §dBd| /What do you understand by "Absorption

of overhead"? Differenitate between absorption and apportionment
of overheads.

Tt and 3 oo R A 64,000 TR 9 e famm , foFF 4 54,000
A 16 WK 39S A 3= W 39 < TN TR ARl SRR 5, 12,000 |
eI TReT S 1,28,000 T ol PRGFT SURETT TRl S TR 3714% B Rd™
Y IR BE 8 TR IR FREIFT PRI R 20 TRIeKT SFIRISTRT & ool
el U feleRoT SIRERT 60 RITIK S 7 399 o 1el 3 SRTRI SR 61 b AAFKT
T SR T 3 AR e 9 @ A Vel SR / During the year

(i)

9. 4.

64,000 units of a product were manufactured out of which 54,000 units were
sold at the rate Rs. 16 per unit. The cost of raw materials used was Rs.
5,12,000and the directwages Rs. 1,28,000. The factoryoverhead are absorbed
at 37/2% of direct wages. The office overheads are recovered at 20% of
works cost, selling and distribution overhead cost in Rs. 0.60 per unit sold.
Prepare a cost sheet and show cost per unit and the profit for the year.

31e1d1/ OR
gReEe oIFIa f Fad €7 9% &1 92 &7 S9 SO & 9W
FaATZU STEf W aREe ara Ryt i @1 e fear o 22

What is operating cost? What are its objects? State the industries
where operating costing method is used.

T U] 1 SedIe a1 fafe— Tiasmait A e B 3 3 Uik 2w fAfd o1e
H S B A ViiaRT 3 SeteeT B M H @R B MR A (AR A1er 7 sraRa
T ST 21 T Tl b STRIR OR STIUe T ikt el STAMR &

QT FFT 81 /A product passes through two distinct process A and B
and then to finished stock. The output of A passes direct to B and that of
B passes infinished stock. From the following information, you are required
to prepare the process accounts and abnormal loss account.

Process A Process B
Material Consumed Rs. 12,000 Rs. 6,000
Labour cost Rs. 18,000 Rs. 12,000
Input 10,000 units at Rs. 10,000 -
Normal wastage on input 5% 10%
Sale of wastage {per 100 units) Rs. 8 Rs. 10
Output {units) 9400 8300

aferr/ oOR

FEHTPRIT A@ B givyivg HITT Jer AT IRaisT § TF

q&5@ B G931/ Define "Non- Integral Accounts™ and explain
their significance in cost accounting.

(iii) $.93./PT.0.



9. 5.

(v) STURH % 20 7 P & T Ui SUET 9P P IR § &
ATt H1 A R T S 2l

(vi) Prdefiet goit @1 U@ f8E 9 A6 & ®U F HiHaansti &
foro off ar S

From the following information taken from X Ltd. calculate the working

capital required by the company by operating cycle methods.

(i) Annual sales are estimated at 10,000 Units @ 10/Unit.
(ii) Production and sales quantities coincide and will be carried
on evenly through out the year and the production cost is material
@ Rs. 5.00, labour @ @ Rs. 2.00 and over heads @ Rs. 1.75 per Unit.
(iii} Customers are given 60 days credit and 50 days credit is
taken from suppliers.
(iv) 40 days of supplies of raw material and 15 days supply of
finished goods are kept in stock.
(v} The production cycle is 20 days and all materials are issued
at the commencement of each production cycle.
{(vi) A cash balance equal to one third of the working capital is

also kept for contingencies.

goft &t i fraa aria B TR

Explain the 'Weighted Average cost of capital.
aferr/ oOR

7 IR e} faRaA- / Write notes on following -
(a1) Fridfier Ooff & ST / Sources of Working Capital

(§) @m9ier i / Dividend Policy.
"o
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Note : Attempt any five questions. Each question carries equal marks.
9. 1. frim s & (s a1 & Seora i)

Enumerate the various types of finance functions.

37eram/ OR
T gRAT § IRFEEE (A 40,000 %, & dur 4 a5 F fog
qIffes Aebg 2T<Tafz 16,000 H. BF HT AFAH 21 ARG TIR
SR B TUAT DI

A project cost on intial investment of Rs. 40,000 and is expected

to generate annual cash inflows of Rs. 16,000 for 4 years. Calculate
internal rate of return (IRR)

4 97 $I 3m@ftr & forv At 9g & | @ 1 &1 9099 Jea-

Present value of Rs. 1 at various discount rates for a period 4 years.

Years 19% 20% 22%
1 0.8403 08333 0.81%
2 0.7062 06544 0.6719
3 0.5934 05787 0.5507
4 0.4987 04823 04514

Total 2.6386 2.5887 24936

(i) $.93./PT.0.



. 2.

F=ferRag W oo ferRau- / Write short notes on following-

(31) foxfta W= / Financial Structure

(@) ST W2 / Capital Structure

(9) Gy T / Assets Structure

(2) goft @va=T § gR&c / Changes in Capital Structure
37oraT/ OR

Aafue frfice 100 %. @@ 10 A9 1,000 YEMRER 3feT

frffia e amdt 8, e aiem 10 adf gearq T e =R faar

ST 81 9ol A = 59 TeR 8- i FHieE 2 g,

AT 1 TRIT Je1 BUT8 $1e 1,000 .1

qi $F AR S ST RS AT @7 MR 5 Tl 98 R fhan

SR | Ffe A R AT R R 35 gaRkier 8 F golt B A R

FIT 991 TST? /Olympic Limited wants the issue 1,000 10%
preference shares of Rs. 100 each, redeemable after 10 years at par.
The expenses of capital issue are - under writing commission 2%,
Brokerge 1% and printing etc Rs. 1,000.

Calculate cost of capital if the shares are issued at 5% discount. What
will be the effect on cost of capital if corporate tax rate is 35%.

7 Prafril 3 IR § R qEen A & 3
The details regarding three companies are given below-
A Limited B Limited C Limited
r 12% 6% 8%
Ke 8% 8% 8%
E Rs. 10 Rs. 10 Rs. 10

e & B P TN 3 §Y 37 HAMIT B U A BT 49
HIRTT T AT YIAH A (a) 20% (b) 60% () 0% TAT (d)

(i)

U 4.

100%. &1 fAspaf qv feuguft Hifsro

Compute the value of an equity share if each of these companies
applying Walter's formula when dividend pay-out ratio is (a) 20%

{b) 60% (c) 0% (d) 100%. Comment on the conclusion drawn .
31941/ OR
U ST W 19 FAT I3 &7 IR SAierd 61 e

qer Hewd IR TpIeT SMfery)
What do you understand by Operating Leverage? Highlight the
characteristics and importance of Operating Leverage.

pridfier Goft i e | My Far gawa §7 Frider oot &
TEd Pl T BT
What do you understand by concept of working capital. Explain

the importance of working capital.

32T/ OR

vad for. ¥ Suaed aAmsl § SO S aaeas e ol H
o oReTeE T fafy | Hifg |

(i) 3G affes fahr10,000 3HIEAT10 &, U 3B

{ii) SIS @ fopa AAY 0 FHM & JUT I8 TR T a1 @t
&1 ST PR 59 TR &, I 5 ., 59 2 &, 9T SuNeg
1.75 &. /3D

(iii) TTEPT BT 60 AT P forg SR fezm e & W9l dERi | 50
AT & IR & gfaen 7 BRI B

(iv) F= 71T Bt 40 &7 BT g e FFT 7 Ht 15 T Hi gff
TP A & IR 2

{iii)



. 3.

U 4.

. 5.

wfarm feooft ferRau- /write short note on- 14
(37) 9CCTTd ge H IR |/ Diffences between 'Discount' and Rebate
() i dee g Aeaet s § 3R

Differenciate between primary package and secondary package

3191/ OR
7ea feRor $1 ara ittt #1 guiF S|

Explain any five methods of Price Determination. 14

focmor A1egw @1 8° faavor AvegEl H qfeT w dfem vt
ferfeam

What do you mean by ‘Distribution Channels? Write a short note
on Role of Distribution Channels. 6+8=14

3191/ OR
Tp-y A= Y faftre gepfaeet &1 avfa Hifv 14

Explain different techniques of 'Inventory Control'.

I daga & faftra faft w1 afa Sl

Explain different methods of 'Sales Promotion'. 14
3191/ OR
T Hhel At & U HT quie Hifo |

Describe qualities of a successful sales person. 14

*ee
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7. 1. fuuE 9 g @ a9 &7 fgue & 13 2 afvman il
fawg vg Rque & #18 ot R Hifo)
What do you mean by marketing? Write down any two definitions

of marketing. Explain any five differences between 'Sales' and
'Marketing'. 445+5=14

Y4t/ OR

SUNIFTT AR F 31T 1 T &7 SUHIad] TARR BT q91ad
H Tl TSH1 BT quia BT

What do you mean by 'Consumer Behaviour? Explain the factors
influencing consumer behaviour. 6+8=14

0. 2. ST J 3T T A9H 22 JIUS UF S F 3R T HI|

What do you mean by Trade Mark'? Explain differences between
'Brand and Trademark’'. 6+8=14

arear/ OR
IS e 9% W TS Giem okg kel

Write a short essay on 'Product Life Cycle'.

(i) $.93./PT.0.



. 4.

9. 5.

aferr/ oOR
ARG &fH e & sraria 7 oraemi @1 auie $Hifs|
Explain the following provisions under Banking Regulation Act.
(i) 3Nf<IT TR Td 7P 3ADBE / Final Account & their Auditing
(i) §D1 FT &= / Management of Banks

g AT ST A AN AT T £2 &1 T dpf & deey B

TS |

What do you mean by RRB? Explain the management of RRB.
3191/ OR

ST FEDON SDI DY Guil J FO1 TRl fbanatl B A |

Explain the Capital & Loan regarding activity of Central Co-
operative Banks.

o X =7 87§ R Aifa Hit Fme s g9sEd

What is Bank Rate? Explain the limitations regarding Bank Rate
Policy.

arerar/ OR
difaes ifer A a1 FA1 S &7 W Hifee i $ g T
Bl T3 |

What do you mean by Monetary Policy? Explain the main features
of India Monetary Policy.

*ee
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Note : Attempt all questions. Each question carries equal marks.

7. 1. JRAIAE. F P T I B AR I A9

Explain the functions & objectives of RBI in detail.

arear/ OR
ARE a0 ¥ A Fr 99 g7 Red §9 R 9 e &
U B feran

What do youmean by credit control? Explaian how RBI controls credit.

T, 2. R T vumelt |/ 319 = g 87 9wdig §fd vomett &
PR B FIISA |

What is Indian Banking System? Explain the structure of Indian
Banking System.

arerar/ OrR
T & fafert vt a1 a9y

Explain the different functions of money.

7. 3. 4% WeieE vae 1949 P ARRAR A02Ey |
Explain in detail Banking Regulation Act. 1949.

(i) $.93./PT.0.



